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8. és 9. Gyakorlat
Abszolút folytonos valószínűségi változók - Eredmények

1.

fX(t) =
{

2 − 2t, ha t ∈ (0; 1),
0, különben,

E(X) = 1
3, D(X) = 1

3
√

2
≈ 0,2357

2.

fX(t) =



2 + t

4 , ha t ∈ (−2; 0),

2 − t

4 , ha t ∈ (0; 2),

0, különben,

, E(X) = 0, D(X) =
√

2
3 ≈ 0,8165

3.

fX(t) =
{

4 − 8t, ha t ∈ (0; 1
2),

0, különben,
E(X) = 1

6, D(X) = 1
6
√

2
≈ 0,1179

4. α = 1
2 P

(
1
9 < X < 1

4

)
= 1

6
5. 45,072 l, 16,667 l

6. a) a = 1
3, ekkor X egyenletes eloszlású a [0; 3] intervallumon

b) P(2 < X < 5) = 1
3

c) E(X) = 1,5

7.

a) α = 3
4, FX(t) =


0 t ≤ 0
3
4 t2 − 1

4 t3 0 < t ≤ 2
1 2 < t

, E(X) = 1, D(X) = 1√
5

≈ 0,4472

b) α = 3
2, FX(t) =


0 t ≤ 2√

(t − 2)3 2 < t ≤ 3
1 3 < t

, E(X) = 2,6, D(X) ≈ 0,2619

c) α = 2, FX(t) =


0 t ≤ 1
(t − 1)2 1 < t ≤ 2
1 2 < t

, E(X) = 5
3, D(X) = 1

3
√

2
≈ 0,2357

8.

fY (t) =


1

2
√

t
, ha t ∈ (1; 4),

0, különben,
α = 8


